EXPLICIT FORMULAS FOR KOROBOV POLYNOMIALS

DMITRY V. KRUCHININ

ABSTRACT. In this paper we find some explicit and recurrence formulas for the Korobov polynomials and numbers. Also, author gives another explicit formulas for the degenerate Bernoulli polynomials and numbers. New recursion formulas and identities for these polynomials are also obtained.

2010 Mathematics Subject Classification. 11B68, 33C47, 05A15.

KEYWORDS AND PHRASES. Degenerate Bernoulli numbers, Korobov numbers, polynomial, composita, generating function, explicit formula.

1. Introduction

Research in the field of obtaining explicit formulas for polynomials have received much attention by Srivastava [1, 2], Boyadzhiev [3], Cenkci [4], and Kruchinin [5, 6, 7].

The main goal of this study is to obtain several explicit formulas and identities for the Korobov polynomials and numbers.

Korobov [8] introduced special numbers P_n and polynomials $P_n(x)$ that are degenerate analogues of the Bernoulli numbers and polynomials, respectively. Ustinov [9] considered these polynomials as $K_n(x) = n!P_n(x)$ and called them the Korobov polynomials of the first kind. In [10], Ustinov rediscovered the degenerate Bernoulli polynomials (see [11]) and called them the Korobov polynomials of the second kind.

The study is conducted using the method based on generating functions and the notion of the composita.

In the papers [12, 13] authors introduced the notion of the *composita* of a given ordinary generating function $F(t) = \sum_{n>0} f(n)t^n$.

Suppose $F(t) = \sum_{n>0} f(n)t^n$ is the generating function, in which there is no free term f(0) = 0. From this generating function we can write the following condition

(1)
$$[F(t)]^k = \sum_{n>0} F(n,k)t^n.$$

The expression F(n,k) is the *composita* and it is denoted by $F^{\Delta}(n,k)$.

The composita is useful for obtaining coefficients for every difficult generating function.

This work was partially supported by the Ministry of Education and Science of Russia, Government Order no. 3657 (TUSUR).

2. Explicit formulas for degenerate Bernoulli polynomials and numbers

Carlitz [11, 14] defined the degenerate Bernoulli polynomials $\beta_n(\lambda, x)$ and numbers $\beta_n(\lambda)$ by the following generating functions, respectively:

(2)
$$\frac{t(1+\lambda t)^{\frac{x}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}}-1} = \sum_{n\geqslant 0} \beta_n(\lambda, x) \frac{t^n}{n!},$$

(3)
$$\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1} = \sum_{n\geq 0} \beta_n(\lambda) \frac{t^n}{n!}.$$

The first few polynomials and numbers are

$$\beta_0(\lambda, x) = 1, \beta_1(\lambda, x) = x - \frac{\lambda - 1}{2}, \beta_2(\lambda, x) = x^2 - \lambda x + \frac{\lambda^2 - 1}{6},$$

$$\beta_3(\lambda, x) = x^3 - \frac{3(\lambda + 1)}{2}x^2 + \frac{\lambda(\lambda + 3)}{2}x - \frac{\lambda^2 - 1}{4};$$

$$\beta_0(\lambda) = 1, \qquad \beta_1(\lambda) = -\frac{\lambda - 1}{2}, \qquad \beta_2(\lambda) = \frac{\lambda^2 - 1}{6}, \qquad \beta_3(\lambda) = -\frac{\lambda^2 - 1}{4}.$$

If $(1 + \lambda t)^{\frac{1}{\lambda}} \to e^t$ as $\lambda \to 0$, then we get the Bernoulli polynomials

(4)
$$\frac{te^{xt}}{e^t - 1} = \sum_{n \ge 0} B_n(x) \frac{t^n}{n!}.$$

Howard [15] found the explicit formula for the degenerate Bernoulli numbers

$$\beta_n(\lambda) = m! b_m \lambda^m + \sum_{j=1}^{[n/2]} \frac{n}{2j} B_{2j} s(n-1, 2j-1) \lambda^{n-2j},$$

where $m \ge 2$, b_n is the Bernoulli number of the second kind, B_{2j} is the Bernoulli number, and s(n,r) is the Stirling number of the first kind.

He also proved some recursion formulas for the degenerate Bernoulli numbers (see Theorem 4.1; and formula 4.7 in [15]).

Reader can find other interesting properties and identities of the degenerate Bernoulli numbers related to p-adic invariant integral on Z_p in the following papers [16, 17, 18, 19].

Firstly, using a notion of the composita, we find an explicit formula for the degenerate Bernoulli numbers.

For that we represent the generating function $\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}$ as the following composition of two generating functions

$$G(t) = \frac{1}{1+t} \quad \text{and} \quad A(t) = \left[\frac{(\lambda t + 1)^{\frac{1}{\lambda}} - 1}{t} - 1 \right]$$
$$G(A(t)) = \frac{1}{1 + \left[\frac{(\lambda t + 1)^{\frac{1}{\lambda}} - 1}{t} - 1 \right]}.$$

Let us find a composita for the generating function A(t). Since

$$[(\lambda t + 1)^{\frac{1}{\lambda}} - 1]^k = \sum_{n>0} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} \binom{\frac{j}{\lambda}}{n} \lambda^n t^n,$$

the coefficients of $\left\lceil \frac{(\lambda t+1)^{\frac{1}{\lambda}}-1}{t} \right\rceil^k$ are defined by

$$T(n,k) = \sum_{j=0}^{k} {k \choose j} (-1)^{k-j} {j \choose n+k} \lambda^{n+k}.$$

Then the composita of the generating function A(t) is

$$A^{\Delta}(n,k) = \sum_{i=0}^{k} (-1)^{k-i} \binom{k}{i} T(n,i)$$

or

$$A^{\Delta}(n,k) = \sum_{i=0}^{k} {k \choose i} \sum_{j=0}^{i} {i \choose j} (-1)^{k-j} {j \choose n+i} \lambda^{n+i}.$$

Below we present the first few terms of the composita $A^{\Delta}(n,k)$ in triangular form (the first term is A(1,1)):

$$\left[-\frac{p-1}{2}\right]$$

$$\left[\frac{2\,p^2-3\,p+1}{6},\frac{p^2-2\,p+1}{4}\right]$$

$$\left[-\frac{6\,p^3-11\,p^2+6\,p-1}{24},-\frac{2\,p^3-5\,p^2+4\,p-1}{6},-\frac{p^3-3\,p^2+3\,p-1}{8}\right]$$

Using the formula for coefficients of composition of generating functions from [12], we obtain an expression for the coefficients of the composition $G(A(t)) = \sum_{n \geq 0} c_n t^n$

$$c_n = \begin{cases} 1, & n = 0; \\ \sum_{k=1}^n A^{\Delta}(n,k)(-1)^k = \sum_{k=1}^n \sum_{i=0}^k \binom{k}{i} \sum_{j=0}^i \binom{i}{j} (-1)^j \binom{j}{\lambda} \lambda^{n+i}, & n > 0. \end{cases}$$

Then the explicit formula for the degenerate Bernoulli numbers is equal to

(5)
$$\beta_n(\lambda) = n! \sum_{k=1}^n \sum_{i=0}^k \binom{k}{i} \sum_{j=0}^i \binom{i}{j} (-1)^j \binom{\frac{j}{\lambda}}{n+i} \lambda^{n+i},$$

where n > 0

Therefore, we get the explicit formula for the degenerate Bernoulli polynomials

(6)
$$\beta_n(\lambda, x) = \sum_{m=0}^n \frac{n!}{(n-m)!} \beta_{n-m}(\lambda) {x \choose \lambda \choose m} \lambda^m$$

or

(7)
$$\beta_n(\lambda, x) = \sum_{m=0}^n \binom{n}{m} \beta_{n-m}(\lambda) \sum_{l=0}^m s(m, l) x^l \lambda^{m-l},$$

where s(m, l) is the Stirling number of the first kind.

Next we obtain an identity that based on a compositional inverse generating function R(t) of the generating function for (3).

Definition 2.1. A compositional inverse R(t) of generating function A(t) such that $A(t) = \sum_{n>0} a_n t^n$ and $a_1 \neq 0$, is a power series such that satisfies the following condition

$$(8) A(R(t)) = t.$$

For obtaining a composita of R(t), we use the following algorithm [13, 20]:

- (1) calculate the composita $A_R^{\Delta}(n,k)$ of the reciprocal generating function of (3):
- (2) calculate the composita of the compositional inverse generating function R(t) by the following way

$$R^{\Delta}(n,k) = \frac{k}{n} A_R^{\Delta}(2n-k,n);$$

By the reciprocal generating function we mean the following [21]:

Definition 2.2. A reciprocal generating function $C(t) = \sum_{n\geq 0} c_n t^n$ of a generating function $B(t) = \sum_{n\geq 0} b_n t^n$, is a power series such that satisfies the following condition

$$(9) C(t)B(t) = 1.$$

Since the reciprocal generating function of (3) is

$$\frac{(\lambda t+1)^{\frac{1}{\lambda}}-1}{t}$$

the composita $A_R^{\Delta}(n,k)$ is equal to

$$A_R^{\Delta}(n,k) = \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} \binom{\frac{j}{\lambda}}{n} \lambda^n.$$

Next we obtain the composita of compositional inverse generating function

$$R^{\Delta}(n,k) = \frac{k}{n} \sum_{j=0}^{n} \binom{n}{j} (-1)^{n-j} \binom{\frac{j}{\lambda}}{2n-k} \lambda^{2n-k}.$$

Therefore, according to (8) and the formula for coefficients of composition of generating functions [12], we get the following identity for n > 1

(10)
$$\sum_{k=1}^{n} \frac{\beta_{k-1}(\lambda)}{(k-1)!} \frac{k}{n} \sum_{j=0}^{n} (-1)^{n-j} \binom{n}{j} \binom{\frac{j}{\lambda}}{2n-k} \lambda^{2n-k} = 0.$$

If we consider the following summation

$$\frac{t}{(\lambda t + 1)^{\frac{1}{\lambda}} - 1} + t = \frac{t (\lambda t + 1)^{\frac{1}{\lambda}}}{(\lambda t + 1)^{\frac{1}{\lambda}} - 1}$$

then we get the following formulas for the degenerate Bernoulli numbers

$$\beta_n(\lambda) = \sum_{i=0}^n \beta_i(\lambda) \binom{\frac{1}{\lambda}}{n-i} \lambda^{n-i}$$

or

$$\sum_{i=0}^{n-1} \beta_i(\lambda) \binom{\frac{1}{\lambda}}{n-i} \lambda^{n-i} = 0,$$

where n > 0.

Therefore, we obtain the recursion formula

(11)
$$\beta_n(\lambda) = -\sum_{i=0}^{n-1} \beta_i(\lambda) \begin{pmatrix} \frac{1}{\lambda} \\ n-i+1 \end{pmatrix} \lambda^{n-i+1},$$

where n > 0.

3. Explicit formulas for Korobov Polynomials and numbers

For a fixed real number p the Korobov polynomials and numbers are defined by the following generating functions, respectively [8, 10]:

(12)
$$F_K(x,t) = \frac{pt(1+t)^x}{(1+t)^p - 1} = \sum_{n \ge 0} K_n(p,x) \frac{t^n}{n!},$$

(13)
$$F_K(t) = \frac{pt}{(1+t)^p - 1} = \sum_{n \ge 0} K_n(p) \frac{t^n}{n!}.$$

Young [22] studied the Korobov polynomials as the reciprocal polynomials of the degenerate Bernoulli polynomials and found some useful identities and recurrence relations.

The degenerate Bernoulli polynomials and the Korobov polynomials are related by the following way:

$$\beta_n(\lambda, x) = \lambda^n K_n(1/\lambda, x/\lambda), \qquad K_n(p, x) = p^n \beta_n(1/p, x/p).$$

The first few polynomials and numbers are

$$K_0(p,x) = 1, K_1(p,x) = x - \frac{p-1}{2}, K_2(p,x) = x^2 - px + \frac{p^2 - 1}{6},$$

$$K_3(p,x) = x^3 - \frac{3(p+1)}{2}x^2 + \frac{p(p+3)}{2}x - \frac{p^2 - 1}{4};$$

$$K_0(p) = 1, \quad K_1(p) = -\frac{p-1}{2}, \quad K_2(p) = \frac{p^2 - 1}{6}, \quad K_3(p) = -\frac{p^2 - 1}{4}.$$

Firstly, using a notion of the composita, we find an explicit formula for the Korobov numbers.

For that we represent the generating function $\frac{pt}{(1+t)^p-1}$ as the following composition of two generating functions

$$G(t) = \frac{1}{1+t} \quad \text{and} \quad A(t) = \left[\frac{(1+t)^p - 1}{tp} - 1 \right]$$
$$G(A(t)) = \frac{1}{1 + \left[\frac{(1+t)^p - 1}{tp} - 1 \right]}.$$

Let us find a composita for the generating function A(t). Since

$$[(1+t)^p - 1]^k = \sum_{n>0} \sum_{j=0}^k {k \choose j} (-1)^{k-j} {pj \choose n} t^n.$$

the coefficients of $\left\lceil \frac{(1+t)^p-1}{tp} \right\rceil^k$ are defined by

$$T(n,k) = \frac{1}{p^k} \sum_{j=0}^k {k \choose j} (-1)^{k-j} {pj \choose n+k}.$$

Then the composite of the generating function A(t) is

$$A^{\Delta}(n,k) = \sum_{i=0}^{n} (-1)^{k-i} \binom{k}{i} T(n,i).$$

or

$$A^{\Delta}(n,k) = \sum_{i=0}^{n} \binom{k}{i} p^{-i} \sum_{j=0}^{i} \binom{i}{j} (-1)^{k+j} \binom{j p}{n+i}.$$

Below we present the first few terms of the composita $A^{\Delta}(n,k)$ in triangular form:

$$\left[\frac{p-1}{2}\right]\\ \left[\frac{p^2-3\,p+2}{6},\frac{p^2-2\,p+1}{4}\right]\\ \left[\frac{p^3-6\,p^2+11\,p-6}{24},\frac{p^3-4\,p^2+5\,p-2}{6},\frac{p^3-3\,p^2+3\,p-1}{8}\right]$$

For k = n we have the following identity

(14)
$$\sum_{k=0}^{n} \binom{n}{i} p^{-i} \sum_{j=0}^{i} \binom{i}{j} (-1)^{n+j} \binom{j p}{n+i} = \frac{1}{2^n} (p-1)^n.$$

Using the formula for coefficients of composition of generating functions from [12], we obtain an expression for the coefficients of the composition $G(A(t)) = \sum_{n \geq 0} c_n t^n$

$$c_n = \begin{cases} 1, & n = 0; \\ \sum_{k=1}^n A^{\Delta}(n,k)(-1)^k = \sum_{k=1}^n \sum_{i=0}^n \binom{k}{i} p^{-i} \sum_{i=0}^i \binom{i}{j} (-1)^j \binom{j p}{n+i}, & n > 0. \end{cases}$$

Then the explicit formula for the Korobov numbers is equal to

(15)
$$K_n(p) = n! \sum_{k=1}^n \sum_{i=0}^n \binom{k}{i} p^{-i} \sum_{j=0}^i \binom{i}{j} (-1)^j \binom{j p}{n+i},$$

where n > 0.

Therefore, we get the explicit formula for the Korobov polynomials

(16)
$$K_n(p,x) = \sum_{m=0}^{n} \frac{n!}{(n-m)!} K_{n-m}(p) \binom{x}{m}$$

or

(17)
$$K_n(p,x) = \sum_{m=0}^{n} \binom{n}{m} K_{n-m}(p) \sum_{l=0}^{m} s(m,l) x^l,$$

where s(m, l) is the Stirling number of the first kind.

Next we obtain an identity that based on a compositional inverse generating function R(t) of the generating function for (13).

The composita of compositional inverse generating function R(t) is equal to

$$R^{\Delta}(n,k) = \frac{k}{n \, p^n} \, \sum_{j=0}^{n} (-1)^{n-j} \, \binom{n}{j} \, \binom{j \, p}{2 \, n-k}.$$

Therefore, according to (8) and the formula for coefficients of composition of generating functions [12], we get the following identity for n > 1

(18)
$$\sum_{k=1}^{n} \frac{k}{p^{n}} \frac{K_{k-1}(p)}{(k-1)!} \sum_{i=0}^{n} (-1)^{n-j} \binom{n}{j} \binom{jp}{2n-k} = 0.$$

If we consider the following summation

$$\frac{p\,t}{(t+1)^p-1} = \frac{p\,t\,\,(t+1)^p}{(t+1)^p-1} - p\,t$$

then we get the following formulas for the Korobov numbers

$$K_n(p) = \sum_{i=0}^{n} K_i(p) \binom{p}{n-i}$$

or

$$\sum_{i=0}^{n-1} K_i(p) \binom{p}{n-i} = 0,$$

where n > 1.

Therefore, we obtain the recursion formula

(19)
$$K_n(p) = -\frac{1}{p} \sum_{i=0}^{n-1} K_i(p) \binom{p}{n-i+1},$$

where n > 1.

References

- [1] H. M. Srivastava and P. G. Todorov, An explicit formula for the generalized Bernoulli polynomials, J. Math. Anal. Appl. 130 (1988), 509–513.
- H. M. Srivastava and Guo-Dong Liu, Explicit formulas for the Norlund polynomials B_n^(x) and b_n^(x), Computers Math. Applic. 51 (2006), 1377–1384.
- [3] K. N. Boyadzhiev, Derivative polynomials for Tanh, Tan, Sech and Sec in explicit form, Fibonacci Quart. 45(4) (2007), 291–303.
- [4] M. Cenkci, An explicit formula for generalized potential polynomials and its applications, Discrete Math. 309 (2009), 1498-1510.
- [5] D. V. Kruchinin and V. V. Kruchinin, Application of a composition of generating functions for obtaining explicit formulas of polynomials, J. Math. Anal. Appl. 404 (2013), 161–171.
- [6] D. V. Kruchinin and V. V. Kruchinin, Explicit formulas for some generalized polynomials, Appl. Math. Inf. Sci. 7(5) (2013), 2083–2088.

- [7] D. V. Kruchinin, Explicit formula for the generalized Mott polynomials, Advanced Studies in Contemporary Mathematics 24 (2014), 327–332.
- [8] N. M. Korobov, Special polynomials and their application, Mathematical Notes 2 (1996), 77–89 (in russian).
- [9] A. V. Ustinov, On summation and interpolation formulas, Chebyshevskii Sb. 1 (2001), 52–71 (in russian).
- [10] A. V. Ustinov, Korobov polynomials and umbral analysis, Chebyshevskii Sb. 4(8) (2003), 137–152 (in russian).
- [11] L. Carlitz, A degenerate Staudt-Clausen theorem, Arch. Math. 7 (1956), 28–33.
- [12] V. V. Kruchinin and D. V. Kruchinin, Composita and its properties, Journal of Analysis & Number Theory 2(2)(2014), 1–8.
- [13] D. V. Kruchinin and V. V. Kruchinin, A method for obtaining generating function for central coefficients of triangles, J. Integer Seq. Vol. 15 (2012), article 12.9.3, 1–10.
- [14] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51–88.
- [15] F. T. Howard, Explicit formulas for degenerate Bernoulli numbers, Discrete Math. 162 (1996), 175-185.
- [16] D. S. Kim, T. Kim, and D. V. Dolgy, A note on degenerate Bernoulli numbers and polynomials associated with p-adic invariant integral on Z_p, Appl. Math. Comput. 259 (2015), 198-204.
- [17] D. S. Kim and T. Kim, Some identities of degenerate special polynomials, Open Math. 13 (2015), 380-389.
- [18] D. S. Kim, T. Kim, and D. V. Dolgy, On q-analogs of degenerate Bernoulli polynomials, Adv. Difference Equ. 194 (2015), 1-10.
- [19] D. S. Kim and T. Kim, Some identities of Korobov-type polynomials associated with p-adic integrals on Z_p, Adv. Difference Equ. 282 (2015), 1-13.
- [20] D. V. Kruchinin, Y.V. Shablya, V.V. Kruchinin, A.A. Shelupanov, A method for obtaining coefficients of compositional inverse generating functions, Numerical Analysis and Applied Mathematics ICNAAM 2015. AIP Conf. Proc. 1738 (2016), 130003, 1-4.
- [21] H. S. Wilf Generating functionology, Academic Press, 1994.
- [22] P. T. Young, Degenerate Bernoulli polynomials, generalized factorial sums, and their applications, J. Number Theory 128 (2008), 738–758.

Tomsk State University of Control Systems and Radioelectronics, Tomsk, Russia

NATIONAL RESEARCH TOMSK POLYTECHNIC UNIVERSITY, TOMSK, RUSSIA $E\text{-}mail\ address$: KruchininDm@gmail.com